ggd

ud gd ud ud ooooobod
1 = ggd E 600,000
2 = ggd E 300,000
T3 = goo E 115,000
T3 = goo E 115,000
T3 = goo E 115,000
T6 = goo E 77,500
T6 = goo E 77,500
T8 = goo E 62,400
T8 = goo E 62,400
T8 ("] O00O0Oe OO E 62,400
T8 = goo E 62,400
T8 = goo E 62,400
T13 = g E 52,000
T13 = goo E 52,000
T13 = goo E 52,000
T16 = ggd E 47,500
T16 = ggd E 47,500
T16 = ggd E 47,500
T16 = ggd E 47,500
T20 = ggd E 44,833
T20 = ggd E 44,833
T20 = ggd E 44,833
T23 = ggd E 42,500
T23 = g E 42,500
T25 = goo E 38,500
T25 = goo E 38,500
T25 = goo E 38,500
T25 = goo E 38,500
T25 = ooogs2 E 38,500
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ggd

T25

T31

T31

T31

T31

T35

T35

T37

T37

T37

T40

T40

T42

T42

T42

45

T46

T46

T46

T49

T49

T51

T51

T51

T54

T54

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

opoono

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

38,500
33,500
33,500
33,500
33,500
30,500
30,500
28,000
28,000
28,000
25,500
25,500
24,000
24,000
24,000
23,000
22,000
22,000
22,000
20,500
20,500
17,000
17,000
17,000
14,500

14,500
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